

DMC No. 000001
 Roll No. 255125771
 Regn. No. 25-DEO-771

RESULT-cum-DETAILED MARKS CARD
 MASTER OF ART SEMESTER-01 EXAM : JUN- 2025
 (MASS COMMUNICATION-CBCS-CDOE)

Name : ARPITA CHATTERJEE
 Father's Name : ARINDAM CHATTERJEE
 Mother's Name : ISHITA CHATTERJEE
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MAMC-101 THEORY AND PRACTICE OF COMMUNICATION	53 24	40AG	100	A+	9	04.0	36.0
2	MAMC-102 WRITING SKILLS	54 23	40AG	100	A+	9	04.0	36.0
3	MAMC-103 INTRODUCTION TO MASS MEDIA	56 24	40AG	100	A+	9	04.0	36.0
4	MAMC-104 MEDIA & SOCIETY	58 25	40AG	100	A+	9	04.0	36.0
5	MAMC-105 COMPUTER APPLICATIONS	59 25	40AG	100	A+	9	04.0	36.0
	TOTAL	0401		0500			20.0	180.0
	GRAND TOTAL	0401		0500			20.0	180.0

RESULT : PASSED AND HAS OBTAINED : SGPA 9.00

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue _____

DMC No. 000002
 Roll No. 255125774
 Regn. No. 25-DEO-774

RESULT-cum-DETAILED MARKS CARD
 MASTER OF ART SEMESTER-01 EXAM : JUN- 2025
 (MASS COMMUNICATION-CBCS-CDOE)

Name : MEENAKSHI SAROHA
 Father's Name : RAJENDER SINGH
 Mother's Name : RAJDULARI
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MAMC-101 THEORY AND PRACTICE OF COMMUNICATION	56 22	40AG	100	A+	9	04.0	36.0
2	MAMC-102 WRITING SKILLS	52 24	40AG	100	A+	9	04.0	36.0
3	MAMC-103 INTRODUCTION TO MASS MEDIA	58 24	40AG	100	A+	9	04.0	36.0
4	MAMC-104 MEDIA & SOCIETY	57 26	40AG	100	A+	9	04.0	36.0
5	MAMC-105 COMPUTER APPLICATIONS	59 23	40AG	100	A+	9	04.0	36.0
	TOTAL	0401		0500			20.0	180.0
	GRAND TOTAL	0401		0500			20.0	180.0

RESULT : PASSED AND HAS OBTAINED : SGPA 9.00

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue _____

DMC No. 000003
 Roll No. 255125776
 Regn. No. 25-DEO-776

RESULT-cum-DETAILED MARKS CARD
 MASTER OF ART SEMESTER-01 EXAM : JUN- 2025
 (MASS COMMUNICATION-CBCS-CDOE)

Name : HARLEEN SINGH SAHI
 Father's Name : JATINDER SINGH
 Mother's Name : NAVNEET KAUR
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MAMC-101 THEORY AND PRACTICE OF COMMUNICATION	54 27	40AG	100	A+	9	04.0	36.0
2	MAMC-102 WRITING SKILLS	45 27	40AG	100	A	8	04.0	32.0
3	MAMC-103 INTRODUCTION TO MASS MEDIA	53 27	40AG	100	A+	9	04.0	36.0
4	MAMC-104 MEDIA & SOCIETY	54 26	40AG	100	A+	9	04.0	36.0
5	MAMC-105 COMPUTER APPLICATIONS	58 26	40AG	100	A+	9	04.0	36.0
	TOTAL	0397		0500			20.0	176.0
	GRAND TOTAL	0397		0500			20.0	176.0

RESULT : PASSED AND HAS OBTAINED : SGPA 8.80

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue _____

DMC No. 000004
 Roll No. 255125777
 Regn. No. 25-DEO-777

RESULT-cum-DETAILED MARKS CARD
 MASTER OF ART SEMESTER-01 EXAM : JUN- 2025
 (MASS COMMUNICATION-CBCS-CDOE)

Name : RANVIR SINGH
 Father's Name : AVTAR SINGH NEGI
 Mother's Name : PURNA DEVI
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MAMC-101 THEORY AND PRACTICE OF COMMUNICATION	23 18	40AG	100	C	5	04.0	20.0
2	MAMC-102 WRITING SKILLS	AB 18 F	40AG	100	F	0	04.0	0
3	MAMC-103 INTRODUCTION TO MASS MEDIA	AB 15 F	40AG	100	F	0	04.0	0
4	MAMC-104 MEDIA & SOCIETY	AB 19 F	40AG	100	F	0	04.0	0
5	MAMC-105 COMPUTER APPLICATIONS	AB 14 F	40AG	100	F	0	04.0	0
	TOTAL	***		0500			20.0	020.0
							20.0	20.0

RESULT : RE - TILL JUN- 2027 IN : MAMC-102 MAMC-103 MAMC-104 MAMC-105

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue _____

DMC No. 000005
 Roll No. 255125779
 Regn. No. 25-DEO-779

RESULT-cum-DETAILED MARKS CARD
 MASTER OF ART SEMESTER-01 EXAM : JUN- 2025
 (MASS COMMUNICATION-CBCS-CDOE)

Name : BIBHUDATTA PRADHAN
 Father's Name : KRUSHNA CHANDRA PRADHAN
 Mother's Name : PADMABATI PRADHAN
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MAMC-101 THEORY AND PRACTICE OF COMMUNICATION	62 26	40AG	100	O	10	04.0	40.0
2	MAMC-102 WRITING SKILLS	58 26	40AG	100	A+	9	04.0	36.0
3	MAMC-103 INTRODUCTION TO MASS MEDIA	49 26	40AG	100	A+	9	04.0	36.0
4	MAMC-104 MEDIA & SOCIETY	53 26	40AG	100	A+	9	04.0	36.0
5	MAMC-105 COMPUTER APPLICATIONS	53 27	40AG	100	A+	9	04.0	36.0
	TOTAL	0406		0500			20.0	184.0
	GRAND TOTAL	0406		0500			20.0	184.0

RESULT : PASSED AND HAS OBTAINED : SGPA 9.20

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue _____

DMC No. 000006
 Roll No. 255125780
 Regn. No. 25-DEO-780

RESULT-cum-DETAILED MARKS CARD
 MASTER OF ART SEMESTER-01 EXAM : JUN- 2025
 (MASS COMMUNICATION-CBCS-CDOE)

Name : MANJEET KAUR
 Father's Name : GURMEL SINGH
 Mother's Name : SHER KAUR
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MAMC-101 THEORY AND PRACTICE OF COMMUNICATION	43 16	40AG	100	B+	7	04.0	28.0
2	MAMC-102 WRITING SKILLS	41 19	40AG	100	B+	7	04.0	28.0
3	MAMC-103 INTRODUCTION TO MASS MEDIA	AB 21 F	40AG	100	F	0	04.0	0
4	MAMC-104 MEDIA & SOCIETY	AB 23 F	40AG	100	F	0	04.0	0
5	MAMC-105 COMPUTER APPLICATIONS	47 21	40AG	100	A	8	04.0	32.0
	TOTAL	***		0500			20.0	088.0
							20.0	88.0

RESULT : RE - TILL JUN- 2027 IN : MAMC-103 MAMC-104

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue _____

DMC No. 000007
 Roll No. 255125781
 Regn. No. 25-DEO-781

RESULT-cum-DETAILED MARKS CARD
 MASTER OF ART SEMESTER-01 EXAM : JUN- 2025
 (MASS COMMUNICATION-CBCS-CDOE)

Name : BHAVYA GOEL
 Father's Name : ANIL GOEL
 Mother's Name : ANKITA GOEL
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MAMC-101 THEORY AND PRACTICE OF COMMUNICATION	61 24	40AG	100	O	10	04.0	40.0
2	MAMC-102 WRITING SKILLS	61 26	40AG	100	O	10	04.0	40.0
3	MAMC-103 INTRODUCTION TO MASS MEDIA	57 23	40AG	100	A+	9	04.0	36.0
4	MAMC-104 MEDIA & SOCIETY	60 23	40AG	100	A+	9	04.0	36.0
5	MAMC-105 COMPUTER APPLICATIONS	58 29	40AG	100	O	10	04.0	40.0
	TOTAL	0422		0500			20.0	192.0
	GRAND TOTAL	0422		0500			20.0	192.0

RESULT : PASSED AND HAS OBTAINED : SGPA 9.60

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue _____

DMC No. 000008
 Roll No. 255125782
 Regn. No. 25-DEO-782

RESULT-cum-DETAILED MARKS CARD
 MASTER OF ART SEMESTER-01 EXAM : JUN- 2025
 (MASS COMMUNICATION-CBCS-CDOE)

Name : RONAK BHAIRAWA
 Father's Name : SATYAPAL SINGH
 Mother's Name : BABY
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MAMC-101 THEORY AND PRACTICE OF COMMUNICATION	41 25	40AG	100	A	8	04.0	32.0
2	MAMC-102 WRITING SKILLS	39 26	40AG	100	A	8	04.0	32.0
3	MAMC-103 INTRODUCTION TO MASS MEDIA	AB 25 F	40AG	100	F	0	04.0	0
4	MAMC-104 MEDIA & SOCIETY	AB 27 F	40AG	100	F	0	04.0	0
5	MAMC-105 COMPUTER APPLICATIONS	AB 24 F	40AG	100	F	0	04.0	0
	TOTAL	***		0500			20.0	064.0
							20.0	64.0

RESULT : RE - TILL JUN- 2027 IN : MAMC-103 MAMC-104 MAMC-105

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue _____

DMC No. 000009
 Roll No. 255125783
 Regn. No. 25-DEO-783

RESULT-cum-DETAILED MARKS CARD
 MASTER OF ART SEMESTER-01 EXAM : JUN- 2025
 (MASS COMMUNICATION-CBCS-CDOE)

Name : UDIT RAWAT
 Father's Name : PRAMOD SINGH RAWAT
 Mother's Name : PUSHPA RAWAT
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MAMC-101 THEORY AND PRACTICE OF COMMUNICATION	57 21	40AG	100	A+	9	04.0	36.0
2	MAMC-102 WRITING SKILLS	44 23	40AG	100	A	8	04.0	32.0
3	MAMC-103 INTRODUCTION TO MASS MEDIA	52 20	40AG	100	A	8	04.0	32.0
4	MAMC-104 MEDIA & SOCIETY	62 24	40AG	100	O	10	04.0	40.0
5	MAMC-105 COMPUTER APPLICATIONS	58 16	40AG	100	A	8	04.0	32.0
	TOTAL	0377		0500			20.0	172.0
	GRAND TOTAL	0377		0500			20.0	172.0

RESULT : PASSED AND HAS OBTAINED : SGPA 8.60

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 MASTER OF ART SEMESTER-01 EXAM : JUN- 2025
 (MASS COMMUNICATION-CBCS-CDOE)

DMC No. 000010
 Roll No. 255125784
 Regn. No. 25-DEO-784

Name : VIDHAN CHANDRA JHA
 Father's Name : SHATRUGHAN JHA
 Mother's Name : KISHORI DEVI
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MAMC-101 THEORY AND PRACTICE OF COMMUNICATION	57 26	40AG	100	A+	9	04.0	36.0
2	MAMC-102 WRITING SKILLS	60 27	40AG	100	O	10	04.0	40.0
3	MAMC-103 INTRODUCTION TO MASS MEDIA	57 26	40AG	100	A+	9	04.0	36.0
4	MAMC-104 MEDIA & SOCIETY	57 28	40AG	100	O	10	04.0	40.0
5	MAMC-105 COMPUTER APPLICATIONS	62 28	40AG	100	O	10	04.0	40.0
	TOTAL	0428		0500			20.0	192.0
	GRAND TOTAL	0428		0500			20.0	192.0

RESULT : PASSED AND HAS OBTAINED : SGPA 9.60

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)



CONTROLLER OF EXAMINATIONS

Data of issue _____

DMC No. 000011
 Roll No. 255125786
 Regn. No. 25-DEO-786

RESULT-cum-DETAILED MARKS CARD
 MASTER OF ART SEMESTER-01 EXAM : JUN- 2025
 (MASS COMMUNICATION-CBCS-CDOE)

Name : GAURAV KHARE
 Father's Name : ABHILASH KHARE
 Mother's Name : MADHUMALA KHARE
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MAMC-101 THEORY AND PRACTICE OF COMMUNICATION	AB 21 F	40AG	100	F	0	04.0	0
2	MAMC-102 WRITING SKILLS	AB AB F	40AG	100	F	0	04.0	0
3	MAMC-103 INTRODUCTION TO MASS MEDIA	48 21	40AG	100	A	8	04.0	32.0
4	MAMC-104 MEDIA & SOCIETY	AB AB F	40AG	100	F	0	04.0	0
5	MAMC-105 COMPUTER APPLICATIONS	52 10	40AG	100	B+	7	04.0	28.0
	TOTAL	***		0500			20.0	060.0
							12.0	60.0

RESULT : RE - TILL JUN- 2027 IN : MAMC-101 MAMC-102 MAMC-104

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue _____

DMC No. 000012
 Roll No. 255125787
 Regn. No. 25-DEO-787

RESULT-cum-DETAILED MARKS CARD
 MASTER OF ART SEMESTER-01 EXAM : JUN- 2025
 (MASS COMMUNICATION-CBCS-CDOE)

Name : KSHITIZ SHEKHAR
 Father's Name : PRAVEEN SHEKHAR
 Mother's Name : USHA SINHA
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MAMC-101 THEORY AND PRACTICE OF COMMUNICATION	59 20	40AG	100	A+	9	04.0	36.0
2	MAMC-102 WRITING SKILLS	57 23	40AG	100	A+	9	04.0	36.0
3	MAMC-103 INTRODUCTION TO MASS MEDIA	57 19	40AG	100	A+	9	04.0	36.0
4	MAMC-104 MEDIA & SOCIETY	53 20	40AG	100	A	8	04.0	32.0
5	MAMC-105 COMPUTER APPLICATIONS	58 18	40AG	100	A+	9	04.0	36.0
	TOTAL	0384		0500			20.0	176.0
	GRAND TOTAL	0384		0500			20.0	176.0

RESULT : PASSED AND HAS OBTAINED : SGPA 8.80

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue _____

DMC No. 000013
 Roll No. 255125789
 Regn. No. 25-DEO-789

RESULT-cum-DETAILED MARKS CARD
 MASTER OF ART SEMESTER-01 EXAM : JUN- 2025
 (MASS COMMUNICATION-CBCS-CDOE)

Name : VINAYJEET KAUR GREWAL
 Father's Name : HARPAL SINGH GREWAL
 Mother's Name : SURJEET KAUR
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MAMC-101 THEORY AND PRACTICE OF COMMUNICATION	48 23	40AG	100	A	8	04.0	32.0
2	MAMC-102 WRITING SKILLS	56 26	40AG	100	A+	9	04.0	36.0
3	MAMC-103 INTRODUCTION TO MASS MEDIA	51 12	40AG	100	B+	7	04.0	28.0
4	MAMC-104 MEDIA & SOCIETY	57 24	40AG	100	A+	9	04.0	36.0
5	MAMC-105 COMPUTER APPLICATIONS	58 21	40AG	100	A+	9	04.0	36.0
	TOTAL	0376		0500			20.0	168.0
	GRAND TOTAL	0376		0500			20.0	168.0

RESULT : PASSED AND HAS OBTAINED : SGPA 8.40

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue _____